The 18th Annual Conference of the Japanese Society for Artificial Intelligence, 2004

2H3-03

Distributed Cooperation Method for Multi-Agent System by Using Incomplete Information
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The objective of this paper is to move one system by the plural number of agents without communicating each
other. In this work, each agent is assumed to recognize the limited part of the total system. Therefore the agent
makes the local model in order to calculate the optimal action that satisfies the given purpose.

In the proposed method, each agent calculates the effect which is caused by the unrecognized part of the total
system in real time, and defines the future act by using the real-time optimization method. The effectiveness of
the proposed method is shown through the simulation.
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